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Date Objective(s) Page Number
Monday, April 27 Lesson 2 Continued: Be able to calculate and 2-3
compare the differences between simple and
compound interest.
Tuesday, April 28 Lesson 3: Be able to calculate the interest on credit 4-6
cards, personal loans, and easy access loans and
compare the amount repaid to the original.
Wednesday, April 29 | Lesson 3 Continued: Be able to calculate the 7-8
interest on credit cards, personal loans, and easy
access loans and compare the amount repaid to the
original.
Thursday, April 30 Review Lessons 1-3. 9-10
*Quiz TOMORROW, Friday, May 1st*
Friday, May 1 *Quiz on Sections 1-3! 11-12

Additional Notes:

% Materials: Printed packet or notebook paper; pencils. CALCULATORS may be used.
» Note: If you are using notebook paper, be sure to write the pages and numbers of the

material.

» Example: P. 4; #6)

*¢* Quiz on Pages 11-12

+» Answer Key: Pages 13-17

Academic Honesty

I certify that I completed this assignment
independently in accordance with the GHNO
Academy Honor Code.

Student signature: Parent signature:

I certify that my student completed this
assignment independently in accordance with
the GHNO Academy Honor Code.
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Pre-Algebra Unit: Financial Literacy
Unit Overview: Financial Literacy

Now we will continue to learn about simple and compound interest, the cost of credit, the cost of
college, methods of payments, and financial responsibility. All math tasks are important, but
these topics will be used regularly throughout your life. The earlier you learn about these and
apply them to your life, the better you will be financially!

Let’s review these important topics!

p (principal) = starting amount
I = earned interest
A = NEW amount
r =rate of interest

» Simple interest:1 = prt

> Compound interest:A =p(1+ 1)t

Monday, April 27

Pre-Algebra Unit: Financial Literacy

Lesson 2 Continued: Comparing Simple and Compound Interest

Objective: Be able to calculate and compare the differences between simple and compound
interest.

» Welcome back! Turn to the next page for today’s work.
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COMPARING SIMPLE AND COMPOUND INTEREST

1. Gwen has saved $3,500 and wants to deposit it into a savings account that earns 4% annua
interest for 10 years, Complete the table below to help Gwen compare her earnings in a simple
interest account versus a compound interest account.

FORMULA INTEREST EARNED TOTAL VALVE

SIMPLE INTEREST [T = 3566 (c-04) (1 6)
COMPOUND INTEREST |A = 3555 ( [4o.04)'?

Which type of interest will earn more after 10 years, and-how rmuchmore?

2. Wendy and Connor each deposit $8,300 into | 3. Jack and Carlie each deposit $17,250 into
accounts that earn 3.5% Interest for 25 years. accounts that earn 6% interest for 6.5 years.
Wendy's account earns annual simple interest Jack’s account earns annual simple interest
and Connor's account earns annual compound and Carlie's account earns annual compound
interest. Who will earn more interest after 25 interest. Who will earn more interest after 6
years, and how much more interest will they years, and how much more interest will they
earn? earn?

4, Which of the following hest describes the difference hetween simple and compound interest?

AL Simple interest is easier to calculate than compound interest.

B. Simple interest earns interest on the previous interest earned only.

C. Compound interest earns interest on the principal plus any previous inferest earned.
D. Compound interest earns interest on the principal only.

5. Maria and Isaiah each deposited $7,000 into accounts

that earn 6% interest. The graph shows the amount of INTEREST EARNED
inferest each account earned in the 1¥ three years. 480

Whose account earns annual simple interest, and whose 460

Account earns annual compound interest? Explain your 440

choice.

420
380
Maria Isaiah

myYear | mYear 2 mYear 3

» Check those answers!
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Tuesday, April 28

Pre-Algebra Unit: Scatter Plots and Data
Lesson 3: Cost of Credit

Objective: Be able to calculate the interest on credit cards, personal loans, and easy access loans
and compare the amount repaid to the original.

» Be sure not to skip these NOTES!
» It would be helpful for you to read and memorize them.

THE COST OF CREDIT

Credit is money that you _ POITOW  hased on the expectation that you will repay the
amount in the future, sometimes with added f‘ee and/or inferest . Interest associated with
credit refers to the _ CNaArge for the privilege of borrowing money. In the space below, list

some common reasons people may use credit:

ers will vary (buying a home, emergencies, student loans

Answe

arger purchases)

j

[t is important to understand that when using credit, you may
end up repaying more than you originally borrowed because
of inferest .

AMOUNT ___ AMOUNT
PORROWED REPAID

B*—*Iow _are some common forms of credit individuals may use.

credit limnit

* Issued by a bank or business and typically has a
CREDIT i which sets a maximum amount cardholders can purchase on the card.
CARDS P e A MINIMUM PAYMENT  js the smallest amount a consumer should

i pay each month in order to avoid late fees and maintain good credit history.

i « _ Interest is charged on any monthly balances that aren’t paid of .

pEPgONAL i« Allow a borrower to make __larger purchases and usually has a fixed

I-OANQ ferm , or length of time, that the borrower will have to repc:y the loan.
ACCESS i« Typically very SNOMT termand 1187 interest loans. They are generally the
LOANS quickest way to access funds when necessary.

b
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Use each of the problems below fo calculate repayment, or the total cost of paying back a loan.

1. Peter takes out a $26,000 loan in order to buy a new car. He qualifies for a 4.11% interest rate
and his loan is a 5-year term with monthly payments of $480.

o

. Use the term and Peter’s monthly payments to find the total cost of repayment.

How many months will Peter be making payments for his CGF‘?S\I[ (s X \Qmo I’\-\'\"9: (DON

-

0—-

c. Is the tofal repayment more or less than the original amount Pefer borrowed? Explain why.

d. How is interest with credit different than interest with a savings account?

\o I\‘\\'\g

2. Jill paid for a $1,200 vacation by using a credit
card with an 18% interest rafe. In order to pay
the card of f in 12 months, Jill will need to make
payments of [$110.02 each month. Calculate the
total cost of repayment as well as the amount of
interest Jill will pay.

(O .02
% | 2 months $\39() 2’-’
|320.1'-| Total repayment: '

Interest: € | Z)¢

3. Brady has $20,000 in student loans with 3.3%
interest that he plans to pay off in 5 years. He
will need to make monthly payments of $362.05.
Find the total cost of repayment as well as the
amount of interest Brady will pay.

Total repayment:

Inferest:

» Be sure to check and correct your work!



Pre-Algebra: Scatter Plots and Data

hreebra: S¢ GreatHearts

Use the problems below to observe how interest rates and loan lengths affect the cost of credit.

4. Donna is applying for a personal loan of $5,000 with a 5-year term to help furnish her new home.
The table shows Donna’s monthly payments based on the interest rate that she qualifies for.
Complete the table to compare the total repayment and interest paid for each rate.

%’\7/06&' = (LOonmonths

MONTHLY TOTAL
LOAN | RATE | TERM | \VMENTS REPAYMENT

INTEREST PAID

$5,000 4% 5 years $92.08% @0 55 Y L O-Skos = $g25| <0
$5,000 8% 5 years $101.38% Lo =
$5,000 12% 5 years $111.22

What conclusions can you make about the inferest rate and the cost of credit?

5. Joseph is taking out o $32,000 loan with 4.2% inferest for a new SUV. The table shows Joseph's
monthly car payments based on the term of the loan. Complete the table to compare the total
repayment and interest paid for each term.

MONTHLY TOTAL
LOAN RATE TERM PAYMENTS REPAYMENT INTEREST PAID
32,000 4.2% 1year $2,728
32,000 4.2% | 3years $948
32,000 4.2% | 5years $592

What conclusions can you make aboutf the length of the ferm and the cost of credit?
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Wednesday, April 29

GreatHearts

Pre-Algebra Unit: Financial Literacy

Lesson 3 continued: Cost of Credit

Objective: Be able to calculate the interest on credit cards, personal loans, and easy access loans

and compare the amount repaid to the original.

» Review yesterday’s notes and try these on your own!

THE COST OF CREDIT

Match each ferm on the left with its correct definition an the right.

1. Credit A. The smallest amount a consumer should pay each month in order

to avoid fees and maintain good credit history
B. Issued by a bank or company, usuadlly with a credit limit

The charge for the privilege of borrowing money

The act of repaying a loan, including any inferest and fees

2. Interest
3. Term -
——4- Repayment D. Short-term, high-inferest loans
5. Minimum payment .
— 6. Easy aceess loans F. The length of a loan
7. Credit cards G

Money borrowed with the expectation of future repayment

Solve each problem about the cost of credit below.

8. Jameson has $4,300 in credit card debt with
14% interest that he wants to pay off in 24

months. He will need to make monthly payments
of $206.46 each month. Calculate the total cost

of repayment and the interest Jameson will pay.

Total repayment:

Interest:

9. Christina took out a $9,000 personal loan fo
remodel a portion of her home into an of fice
for her new business. The lcan has a 4-year
term and a 5% interest rate. If Christina’s
maonthly payments are $207.26, find the total
cost of repayment and the interest Christina will
pay on her loan.

Total repayment:

Interest:

» Continue the work on the next page.
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total repayment and

das

10. The Jacksons are taking out a $35,000 loan to remodel their
rates for a -year and 5-year loan from two different lenders.
interest paid for each loan of fer.

home. The tables below show the
Complete each table to calculate the

MONTHLY TOTAL INTEREST
LOAN AMOUNT | TERM | RATE | prvMENTS REPAYMENT PAID
$35,000 lyear | 499% | $2.996.10
$35,000 5years | 4.99% | $660.33

would it be?

Which term length would result in the lowest total repayment

for the Jackson’s, and how much awer‘

» Do not forget to check your answers and learn from your mistakes!
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Thursday, April 30

Pre-Algebra Unit: Financial Literacy

Lesson: Review Lessons 1-3
Objective: Be able to calculate simple and compound interest and the cost of credit.

» Tomorrow there will be a quiz. Be sure to review this week’s work!
» Also, the following questions will also help you review for the quiz.

1) Which type of interest is earned only 2) Which type of interest is earned on
on the principal? both the principal PLUS any previous

interest?

3) What is the equation for SIMPLE 4) What is the equation for
INTEREST? COMPOUND INTEREST?

5) Mrs. Hudson wants to calculate the 6) Mrs. Hudson wants to calculate the
interest she would earn from investing interest she would earn from investing
$1000 into and account that earns $1000 into and account that earns
5.5% SIMPLE interest for 42 months. 5.5% COMPOUND interest for 42

Write down her equation? months. Write down her equation?
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7)

Total:

Doodle, my 17-year-old dog, has
$2000 and she plans to invest into an
account that earns 6% SIMPLE
interest. Assuming she makes no
additional deposits or withdrawals,
what will be her interest earned and
total after 5 years?

Interest Amount:

8) Buddy, my 4-year-old dog, has $2000
and he plans to invest into an account
that earns 6% interest
COMPOUNDED annually. Assuming
he makes no additional deposits or
withdrawals, what will be his interest
earned and total after 5 years?

Interest Amount:

Total:

9) Richey invested $5000 into an account

that had a SIMPLE interest. After 12
years, he had $9800 in his account.
What was the interest rate on Richey’s
account?

10) Ronnie invested money into an
account that had a COMPOUND
interest rate of 8%. After 12 years, he
had $12,590.85 in his account. What
was Ronnie’s original deposit if he
never made additional deposits or
withdrawals? How much interest did
he earn?

» Check these answers and review some of the homework problems!

10
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Friday, May 1

Pre-Algebra Unit: Financial Literacy
Lesson: Quiz on Lessons 1-3

Objective: Be able to calculate simple and compound interest and the cost of credit.
» The only work today is the QUIZ!!! You need a pencil and a calculator.
» ARE YOU READY? Be sure to show work! Use separate paper if needed.
» NOTE: Some of these questions will be EXTRA CREDIT!

Answers

QUIZ: CALCULATING INTEREST AND THE COST OF CREDIT SHErs
Answer edch question, and be sure to show work when necessary. 1.
1. Which type of interest is earned on both the principal plus any previous 2.

interest earned? . 3

A. Simple inferest C. Both simple and compound 4.

B. Compound interest D. None of the above

5.

2. Which of the following best describes interest as it relates to credit? 6.

A. Additional money earned for having an account 7

B. The limit for which an individual may use credit 8.

C. The charge for the privilege of borrowing money

D. The total amount a borrower must repay a lender for a loan q.

10.
3. Derrick wants to calculate the interest he would earn from investing

$400 info an account that earns 5.5% annual compound interest for 60 1.

months. Which of the following formulas is set up correctly to help him

do this? 12.

A, A =400(1+ 5.5) C. A =400(1+ .055)%°
B. A =400(1+ 5.5)5 D. A =400(1+ .055)°

4. Roxanne has $3,000 that she plans to invest into an account that earns 7% simple interest.
Assuming she makes no additional deposits or withdrawals, how much interest will Roxanne
earn affer 15 years?

A. $3,150 B. $6,150 C. $150 D. $5,277.09

5. Salvador inherited $20,000 and he plans to invest it info a savings account that earns 6%
interest compounded annually. Assuming he makes no additional deposits or withdrawals, what
will be the total value of Salvador’s account after 10 years?

A. $55,816.95 B. $15,816.95 C. $35,816.95 D. $32,000

6. Cynthia has earned $1,000 and wanfs to put it in a savings account that earns 5% simple
inferest. Assuming she makes no additional deposits or withdrawals, what will be the fotal
value of Cynthid’s account after 48 months?

A. $2,400 B. $1,200 C. $200 D. $3,400
11
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7. Jim and Bill each invest $15,000 into savings
accounts that earn 3.5% interest. Jim’s account
earns simple inferest and Bill’'s account earns
compound interest. After 25 years, who will
earn more interest and how much more will he
earn’?

A, Jim will earn $13,125 more in inferest.

B. Bill will earn $22,323.67 more in inferest.
C. Jim will earn $35,448.67 more in interast.
D

. Bill will earn $7,323.67 more in inferest.

8. Emma and Paul each invest $2,000 info
accounts that earn 6% interest. If Emma’s
account earns simple interest and Paul’s
account earns compound interest, which is the
value of each person’s account affter 8 years?

Emma - $2,960; Paul - $3,187.70
Emma - $960; Paul - $3,187.70
Emma - $2,960; Paul - $1,187.70
Emma - $960; Paul - $1,187.70

O 0w

4. Heather purchased a new $1,500 laptop by
using a credit card with a 17% interest rate.
She will pay of f the balance in 2 years by
paying monthly payments of §74.16. Calculate
Heather’s total cost of repayment.

10. Austin qualified for a $30,000 loan with
7.49% interest in order fo buy a new ski boat.
The term of his loan is 10 years and his
monthly payments are $355.95. Find the
amount of interest Austin will pay after 10
years.

11. Trey decides to consolidate his debt and
qualifies for a personal loan of $10,000 fo help
pay of f his current credit. He qualifies for an
interest rate of 4.29% and is choosing between
a term of 5 or 10 years.

12. At a local bank, the inferest rafe on a
$3,500 personal loan with a 3-year term
depends on a persons credit, A person with
excellent credit would qualify for a 6% interest
rate while a person with poor credit would
qualify for a 20% inferest rate.

RATE TERM MONTHLY PAYMENTS RATE TERM MONTHLY PAYMENTS
4.29% | 5years $185.48 6% 3 years $106.48
429% | 10 years $102.63 20% 3 years $130.07

Which term will result in the lowest fotal
repayment, and how much lower will the
repayment be?

The 5-year ferm would be $1,128.80 lower.
The 5-year term would be $1,186.80 lower.
The 10-year ferm would be $2,315.60 lower.

oo wp

The 10-year term would be $1,186.80 lower.

After repaying the loan, how much more
inferest would a person with poor credit pay
compared fo a person with excellent credit?

$4,682.52
$3,833.28
$849.24

O 0w >

FEach person would end up paying the same

amount.

12
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ANSWERS

COMPARING SIMPLE AND COMPOUND INTEREST

1. Gwen hos saved 53 500 ond warts 10 depasil i1 into a savings account 1hal carms €% annual
imerest for 10 years, Complele the lable below to higlp Gwen compare her carnings in a simple
inferest account versus a compound inferest oocourndt.

FORMULA INTEREST CARNED TOTAL VALUE
SIMPLE INTEREST | 1 = 3,500(.04)( 10} £1,400 £4,900
COMPOUND INTEREST | 4 = 3,500( 1.04) " $1,680.85 $5,180.85

Which type of inlerest will carn more after 10 years, ang haw much more?

Compound; $2B0.85

2. Wency and Corner cach cepesil 38,300 ina
oecounts Thal earn 3.5% inferest For 25 yvears.
Wendy's ascourd carns annual simple inferest
aord Canrac's account carns ardual compound
interest, Whe will carn mare interest alter 25
years, ard Now mush more interes! will they
carn?

Connor; 54,052.43

3. Jack ord Carlie each depesil $17,280 inlo
opeeourds 1hal earn 6% inferest for 6.5 years.
Jack's accaunt earns arnual simiple inleres!
ond Carlie's ascour! earns annual compound
interest, Wha will carn mare interes! ofter 6
years, and how mush mare interest will they
earn’

Caorlie; $1,215.35

4. Which of 1he Following best geseribes the difference botween simple and compaund inferest?

AL Simple inferest is casier 1o calculkaie 1han campound imeroes!,
B. Simple inferest earns interest on ihe previous interest earned anly.
Compound interes! earns inleres! on the principal plus any previous interest earned.
. Compounc interes! earns inleres! on the principal oy,

5. Maria and lsaigh cach depoesited 7,000 into assounts

that earn 8% interesl. The graph shows the amount of
inferest each account earned inthe ¥ three years.
Whase oocound earns annual simple inferest, and whose
Accourt earns annual compound interest? Explain your

chaico.

hario earns compound inferest because the

amount of intersst eorned each year is

continually growing as it is caleulalted on the
principal plus ary previous interest earned.

INTEREST EARNED
4B
4&0
e
420
400
380

II iR

lzoiah

mear 1 mYear 2 mYear 3

13
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Use cach of 1he problems below ta caloulale repayment, or the 1olol cost of paying bosk a loar.

B

zomezthing thal s earned.

1. Peter takes out o 326,000 lean in order 1o buy a new car. He qualifies for o 4.71% inleres! rale
ard his laan is o S-wear term with manthly payments of $480.
v ' 0 =3

Howe rmany montbs will Peler be moking payments For his car? U
b. Use the term and Peter's manthly poyments 1a Tind ibe tolol eosl of repoyment, 800480) = 20,000
&. 15 the 1atal repaymen! mare or less 1han the originagl omaunt Peter borrawed? Explain wiy.

Peter paid 2,800 more than the original amount because of added interast.
d. How is interest with credil different han interest with a savings account?

With credit, interest is sormething that you owe With savings, interest is

2.Jill paid For a £1,200 vacolion by using a crodil
card with an 18% interes! rale. Inorder 1o pay
the card of f in 12 menths, Jill will reed to make
payments of $110.02 eosh month, Caleulale the
folal cost of repayment os well os the amaunt of
interest Jillwill pay.

Tatal repayment:

[rMerest:

3. Brady has £20,000 in student bans wilh 3.3%
interest that he plons to pay of f in 5 years, He
will need 1o make monlnly payments of $362.05.
Find the telal cost of repayment as well oz the
amaurit of irferes! Brady will pay.

521,723
Total repaymer: =

o s
[nterest: $1,723

Usze the prablems below 1o abserve haw inleres! rates and loan lengihe ol fect the cost of eredit.

4. Denma iz opplying Tor a personal loon of $5,000 with a S-year fermito Relp furnish bee new hame.
The table shows Donna's manthly payments bosed on the interest rate that she qualifies For.
Complete the table 1o camipare the total repayment ond interest paid for each role.

MONTHLY TOTAL
LOAN RATE TERM PAYMENTS PEPAYMENT INTEREST PAID
£5,000 4% 5 yoars $92.08 §5,524.80 5524 B0
£5,000 i3 5§ years 210138 56,082.80 F1,082.80
£5,000 12% 5 yodrs ginee £B,573.20 31687320

What conclusions ¢an you make oboul the interest rate and the cost of credit?

The higher the interest rale, the higher the amount of tolal repayment.

E. Joseph is taking out a £32,000 loan with £.2% interest for a new SUV. The 1able shows Joseph's
rmaortbily car paymenls bosed an the berm of the loan, Complele 1he 1able 1 compare 1he 1elal
repayment arnd irderes! paicd For cach ferm.

MONTHLY TOTAL
LOAN RATE TERM PAYMENTS PEPAYMENT INTEREST PAID
£32,000 £09% i year 32,7208 F32,738 5736
£32,000 £2% | 3years $943 F3d 128 52,128
£32,000 42% 8 yioars 5492 FA5,520 3,620

What canzlusions can you make oboul the length of the term and The cost of credit?

The langsr th

e term,

the higher the amount of tolal repayment.

14
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THE COST OF CREDIT

Malch cach term onthe leff with it correct definition on The righl.

G 1 Credi
C 2 Interes
F 3 Term

E 4. Re pay rmerd

P ow

A B Minimum payment

D & Eosy oocess lbans
B 7. Credi cords

&, The smallest amound o cansumer should pay eosh menth in arder
o avoid Fees ond mainloin goad eredil histary

[zsued by a bank or compary, usoally with a eredil limil
The charge Far Tthe privilege of borrawing maney
Shart-1erm, high-interes! loons

The ael of repaying a kan, insluging any inleres! and Fees
F. The length of a loan

3. Maney borrowed with the expectation of future repayment

Salve cach problem abaut the cost of credit below.

B. Jomeson has 34,300 in eredit cord cebl with
4% interes! that he waonls o poy of T in 24

marthz. He will need 1o moke monthly poyments
af $206.46 cach manth. Caleulate the total cost

af repayment ond The inferest Jamesan will pay.

4. Christing ook eut a $9,000 persenal laan 1o
remodel a portion ef her heme inte an effice
Far her rew business. The lgan Bas o 4-year
term ard a 5% interest rate. [F Cheisting’s
raril hly payments are $207 .26, Find 1he 1elal

casl of repoyment and the interest Cheistira will
Py cn her loan.

$4,955.04 59,948.48

Telal repaymeni: Tatal repayrment:

655,04

Lok

[Mlerest: Interest:

$948.48

10. The Jacksons are taking out g £35,000 loan to remadel Their Bame. The tables belaw shaw the
rates For a -yeor and S-year loon From bwo different lenders. Camplete each table ta caloulate 1he
1olal repoymient and interes! poid For cach lsan of Fer.

MONTHLY 10TAL INTEREST

LOAN AMOUNT | TERM | RATE | pyupiente REPAYMENT PATD
$35,000 lyeor | 499% | $2496.10 $35,953.20 | $953.20
$35,000 Syeors | 4.55% £660.33 $39619.80 | $4,619.80

Which term lergth would resull in the lowest islal repoyment For the Jacksan®s, and Row muosh lawer
wauld it be?

l-year term; 33,666.60

15
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1) Which type of interest iz eamed onky
o the principal?

SI\MPLE

1) Which type of interest iz eamed on
both the principal PLUS amy previous
mieraz?

CoMPOUND

Ty Vvhat i the equstion for SVPLE

E“-ITER.I?I_EE“MI Fctjlif'l'fﬂ-f_lli\}
I @{_ JE— Livne

v YE kg

.er.:,rfﬁ-'lr TG'HJFE oS a deg

4y What iz the equation for
CONPOUND INTEFEST?

A- P+
MV-\L—"FH ra A et AFTEE,

3 Mirz. Hodson wants to caloulate the
mierast she would eam from Dnvesting
$1000 mto and account that eams

5.5% SIMPLE imtarest for 42 mauths.
Wirits down her equatian?
P=\ocoo
(=55 -lo0= 0.5
m .
‘t - L MaNTHS — ﬁ__*-":'ﬁ'
4215\
= 3.5 VYEARS

)59

&) Bz Hodson wants to calculate the
miersst she would eam from mvesting
51000 mto znd accoumt that eams

3,50 CONPOUND interest for 42
manths. Write down her equation?
P=\0coo
= O.055
t=5.5years

A = ]ﬂfﬂl'( \+0, -'35_'5\

16
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71 Doodle, my 17-vear-old doz, has &1 Boddy, moy 4-year-ald dog, has 32000
32000 znd =he plan: to imvest inbo an and he plans to iovest into an account
accout that eams §% SINPLE that eams §% muterast
mierest Azsuming she makes no COMNMPOUNDED annually. Aznaming
additionz] deposits or withdrawals, hzmakumammaldepﬂmm
what will be her imterest eamad and withdravals, what will be hiz interast
total after 5 yeara? - ezrned and total after 5 vearsT o

_=--|_“_:r"||: -P'.:PI{\—'-.-F\‘]-P =
1 =2000(6.00)(5) | . 2500(1 +6 00)
— s
1= 300 g:gg@g@,ﬁ{ﬁ‘)
+ 2000 A= 2006 (1.%32]7 )
- s LA
Intersst Ampant: ‘ti—;ﬂ@ Iuterert-".mnuutaé =T AT~ ’/;qml‘f

ma 2000 s PO Hs P

& Richey iwested 35000 into an accourt 100 Fommie mvestad money mto an

ﬂlﬂt]lﬂ-:l&S]]'-IPLEiﬂIEl‘EL-ll accomt that had a COWPOLUD
wvears, ha had 39800 in his accomt. mterest rate of S%oJNNEE 12 vear:, ha
What was tha gt rate on Richey's hiad 312 350085 in hi= ac
Tt 1 was Fonnie's orizinal itifha
T = F_-;.-r-ll- never made additional deposits ar F
Tf-’—'l ad withdravmals? How muach interest did
T = 906~ 5000 % he aam? So e Stofted
Pz dSasna H =R ﬂ with ESogo
i = =1),590 85 | e mede
. _ M o T
4;:5;%1-:1"'5 F‘- — Sood .00
r=o.0% Jcas €5 |rerest
L&%.:,.:, Eﬂﬂ&{r\][i'-i\." _|:;__ 12 ""*_.I"Eﬂf = -1 =)
— (el elale e
i L bbbl 19500.%5 = *F'{W*G‘iﬂ-l il
(S & L Sy '.QEG.:::.T:J 'P{II ﬂ‘u'i\'] jﬁ,.,..r-
G ot € 12596 95 = EQ IR
| L 5 =3 517 =i g
So, (= Lo Abal $SHA0=
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